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Shade . of these shapes.

BrE O X
o U

¥ P

B 9

Tick the shapes that show one half shaded

What is » of these numbers?

2 ‘yz Of 24 — V2 Of 12 - Solve these problems.
bof28= |Yofd8=

%ofl0= |%ofl6e=

%of100= % of 22 =

%of50= |%of20=

&



Shade % of these shapes.

]
A (1
D \ _/
) | | |-
| - -
L]
Tick the shape that shows one quarter shaded.
o O
? '
)
o What is % of these numbers?
% Of 24 — % Of 28 - Solve these problems.
]
% of dde | %of 16 ududvdUDUBUDUDUDUDVID
g 2 O1 A= |AOTIDS uduDUBUDUDDUDVDUDND
- Yo of 36 = |% of 40 =
| %of 8= v of 44 =
|7 of32= |hofl2=
@
I [} iR b N [ i =] 7
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Shade % of these shapes.

&
Tick the shape that shows three quarter shaded. e
What is % of these numbers?
% Of 24 = % Of 40 - Solve these problems.
%0f16= %4 0f44 = VNN
% of 8 = % of 36 =
%0f28= |%0f48 =
B
C I 3 3¢ X JC X X X 3
%0f20= |% 0of32= ggggggg
§
£ = i i N o= e i B @
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Shade ; of these shapes.

?
{AVA @ $
D P
D I

Tick the shape that shows one third shaded.

O AELD & % |

D e

What is ' of these numbers?

® &
Solve these problems.

Q%of3= % of 36 =

< ]
| %ofb= % of 15 =

»
1%of33= |%of2l= 3
| %ofl8= |%of27= <

@00 000

“|%of24= | %of30= " YT NIX. ®
r’ r’
&



Ccut and put the shapes in correct boxes.

Put the shapes in the correct box:

DISPAN,
DDA A

Put the shapes in the correct box:

4> &
—b K

1 1
2 3
1 1
4 5
1 1
2 3
1 1
4 5
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colour half of the objects

 [BEsE Ny |

gEEE YWy
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Colour three quarters of the objects below.

GIoNGIe)
L SRR )]
a4
. | 00060 O00C 3
{9 G Of llilil
$ ok “ :
: @g g@g l‘ l" ;
$ & @ :
: :



Colour two-third of the objects

®O6 ®OE
) D & & 2590 Q0
. | 200806
O
" # b B =)
SDE

iy == = fe v v v v
.""t: L . Ma =
- -

v
v@%&%V

5 > v
w5 s v v
vVYy Yvy
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Redsoning:
E J B

Ben thinks % of 32 = 7.
Is he correct?

B How did you work out the answer? P

Sam has shaded in 2/3 of this shape.
Is he correct?

Explain your answer.

Allan has 9 lollipops. She has split them in three equal groups

s

Is she correct? Explain your answer.

Sara collects 10 eggs. She uses to make a cake. How many eggs did she use? How

P many eggs does she have left?

How did you worked out the answer?




